COMPILATION OF ERRORS AND RECOMMENDATIONS
The correct answer is in black
The text talks about = The text deals with
Agreement errors: There is / There are
Spelling errors: companys  companies, mentionned  mentioned, responsability responsibility,
an other   another
For instance= For example  for exemple
The author, the journalist wants to say     He/She means
has advantages  offers advantages
Branson’s quote = The quote by Richard Branson  The quote of Branson
In the 2 cases= in both cases
Contrary to = unlike
An economic policy  an economic politics
Relative pronouns: who refers to people, which refers to things, abstract concepts
In this essay, we are going to discuss   In this essay I will deal with 
It depends of   It depends on
We need to listen the economists   we need to listen TO the economists
At the opposite   But
LEARN YOUR IRREGULAR VERBS!!!!!!!!!!!!!!!
A characteristic= a feature
One person= two people  peoples
On the one hand, on the other hand is used to compare 2 ideas.
A default= a fault, a flaw
Economic refers to the economy, economical= cheap, affordable
For begin = to begin, to start with

DO NOT INVENT WORDS: BARBARISMS: determinated determined
DO NOT WRITE NONSENSICAL SENTENCES
DO NOT GO OFF TOPIC/ STAY RELEVANT= ANALYZE ALL THE WORDS BEFORE ANSWERING



